5.4 Practice - Introduction to Polynomials

Simplify each expression.

1) —a®—a?’+6a—21 when a=—4
2) n?+3n—11whenn=—6

3) n®—7Tn%+15n — 20 when n =2

4) n®—9n?+23n — 21 whenn =5

5) —bnt—11n®*—9n?—n -5 when n=—1
6) z* — 52 —x+13 when z=5

7) 2>+ 9z + 23 whenz = — 3

8) — 623+ 4122 — 322+ 11 whenz =6
9) 2t — 623+ 22 — 24 when =6

10) m*+8m3+ 14m? +13m + 5whenm = — 6
11) (5p — 5p*) — (8p — 8p")

12) (7m?+5m3) — (6m3 — 5m?)

13) (3n?+n?) — (2n® — n?)

14) (2% + 52%) + (72° 4 32?)

15) (8n+n?) — (3n —4n?)

16) (3v*+1) + (5 —v?)

17) (1+5p®) — (1 —8p?)

18) (62 + 5x) — (8 + 623)

19) (5n*+6n%) + (8 — 3n® — 5n?)

20) (822 +1) — (6 — 22 — z%)

21) (3+0Y) + (7420 +b%)

22) (1+6r%) + (6r>—2—3r")



23) (823 +1) — (5a* — 623+ 2)

24) (4n*+6) — (4n — 1 —n%)

25) (2a + 2a*) — (3a® — 5a* + 4a)

26) (6v + 8v3) + (3 +4v® — 3v)

27) (4p*>—3—2p) — (3p* —6p+3)

28) (7+ 4m+8m*) — (5m* + 1+ 6m)

29) (4b%+7b* — 3) + (8 + 5>+ b%)

30) (Tn+1—8n%) — (3n+Tn*+7)

31) (34 2n*+4n?) + (n® — Tn? — 4n?)

32) (722 + 2% + 72°) + (62° — 82* — 72?)

33) (n—5n*+7)+ (n?—Tn*—n)

34) (8% + 2x* + 7a®) + (Ta* — T2 + 22?)

35) (871 = 5r34+5r2) + (2r2 4 2r3 — 7rt 4+ 1)

36) (423 + x — Ta?) + (22 — 8+ 22 + 62%)

37) (2n? 4+ Tn*—2) + (2 + 2n® + 4n* + 2n?)

38) (7b% — 4b+ 4b*) — (8b3 — 4b2 4 2b* — 8b)

39) (8 —b+T7b%) — (3b* + Tb — 8+ 7b?) + (3 — 3b+ 6b%)

40) (1 —=3n*—8n3) + (Tn* +2 —6n%+3n3) + (4n®>+ 8n' +7)
41) (82* 4 223 +22) + (22 +2 — 22% — o) — (2 + 52 + 8x)

42) (6z — bt — 4x?) — (22 — T2% — 42* — 8) — (8 — 622 — 42%)
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) —n®+10n?
)

14) 8z3 + 822

15) 5ni + 5n

Answers to Introduction to Polynomials

16) 20 +6
17) 13p?
18) — 3z
19

20

)

)

)

) 3n3+8

Yzt 4922 -5

21) 2b* +2b+10
22) —3rt+12r2 -1
23) —b5xt+142% -1
24) 5nt—4dn+7

25) 7Ta* —3a%—2a
26)

27) p>+4p—6

28)

29) 503+ 12b% 45
30)

1203 +3v+3

3m*—2m+6

—15n*+4n—6

31) n3—5n?+3

32) — 6at+ 1323

33) —12n*+n2+7
34) 922 + 1022

35) rt =33+ 7r2+1
36) 1023 — 622+ 3z — 8
37) In* + 2n3 4 6n2
38) 2b* — b3+ 4b% 4 4b

39) — 3b* + 13p3 — TV —
116+ 19

40) 12n* —n3—6n%+10
41) 22* — 23 — 4w + 2

42) 3z* +92% + 4z
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